

### Department of Public Works

## **Engineering Division**

Robert F. Phillips, P.E., City Engineer

City-County Building, Room 115 210 Martin Luther King, Jr. Boulevard Madison, Wisconsin 53703 Phone: (608) 266-4751 Fax: (608) 264-9275 engineering@cityofmadison.com www.citvofmadison.com/engineering Assistant City Engineer Michael R. Dailey, P.E.

Principal Engineer 2 Gregory T. Fries, P.E. Christopher J. Petykowski, P.E.

Principal Engineer 1 Christina M. Bachmann, P.E. Eric L. Dundee, P.E. John S. Fahmey, P.E.

Facilities & Sustainability Jeanne E. Hofman, Manager

> Operations Manager Kathleen M. Cryan

Mapping Section Manager

Eric T. Pederson, P.S.

Financial Manager Steven B. Danner-Rivers

To:

Date:

Mr. Dave Schmiedicke, Finance Director

Public Works Contract:

Local Road Traffic Calming & Arterial Ped Enhancements-2015

Contract Number:

7444

February 28, 2017

Contractor.

RAYMOND P CATTELL INC

Substantial Date:

8/4/2015

This notice is to inform you that the improvements on the abovementioned public works contract were completed and are hereby accepted.

Original Contract Sum
(Based on Actual Units)

Net Change by Change Orders
Liquidated Damages
Final Contract Amount

\$164.062.00
\$169.959.72
\$5,562.15 or 3.39%
\$1,000
\$175.521.87

Please refer to the attached Final Payment Application for Final Account Breakdown. Please consider this contract closed and reverse all unused encumbrances.

If there are any questions with the above information please call me at 266-9091, or Alane Boutelle at 267-1197.

Since fly S. Fly

John S. Fahrney, P. E. Construction Engineer

JDF

Jim Wolfe, Engineering Div.

cc:

Steve Danner-Rivers, Engineering Div. Norman Davis, Civil Rights

# APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager: JIM WOLFE	P:	age 1 of3
Project: LOCAL ROAD TRAFFIC C	CALMING & ARTERIAL PEDESTRIAN ENHANCEMENTS - 2	2015
Contract Number: 7444	Payment No	
DO NOT WRITE IN THIS B	OX - TO BE COMPLETED BY CITY ENGINEERING PERSO	NNEL ONLY
TOTAL FROM PAGE:3	175,521.87	,
LESS RETAINAGE:	0.00	
SUBTOTAL:	175,521.87	·
LESS PREVIOUS PAYMENTS:	171,147.15	
CURRENT PAYMENT DUE:	4,374.72	
by this application for parameter and that the current payers are current payers. Inspection, the current payers are current payers and the current payers are current payers. In the current payers are current payers and the current payers are current payers. In the current payers are current payers and the current payers are current payers. In the current payers are current payers and the current payers are current payers. In the current payers are current payers and the current payers are current payers. In the current payers are current payers and the current payers are current payers. In the current payers are current payers and the current payers are current payers. In the current payers are current payers are current payers are current payers. In the current payers are current payers are current payers are current payers are current payers. In the current payers are curren	PAYMENT: tor certifies that to the best of his/her knowledge, the working the working that the completed in accordance with the contra	act documents,  /- Z6 - Z0/6  ATE  rk covered
and that the contractor is  INSPECTOR	s entitled to payment for the amount certified.	lerlis ATE
PLEASE PROVIDE THE TIME PERIOD I	FOR THIS PAYMENT REQUEST: FROM: TO:	
PLEASE PROVIDE THE CONTRACTOR	/SUBCONTRACTORS THAT WORKED ON PROJECT DURI	NG THIS PERIOD:
NOTE: SIGNED PAYMENT REQU	JEST SHALL BE SUBMITTED TO THE ENGINEER/INSPECTO	OR.

PARTIAL PAYMENTS CAN BE PROCESSED EVERY TWO WEEKS.

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

RAYMOND P. CATTELL, INC.
LOCAL ROAD TRAFFIC CALMING & ARTERIAL PEDESTRIAN ENHANCEMENTS - 2015
CONTRACT NO. 7444

	AYMENT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET	CACCOUNT NO. 10223-402-200: 54410												
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$16,000.00	\$16,000.00		0.00	\$0.00	1.00	\$16,000.00	1.00	\$16,000.00	100.0%
10911	MOBILIZATION	1.00	LUMP SUM	\$16,000.00	\$16,000.00		0.00	\$0.00	1.00	\$16,000.00	1.00	\$16,000.00	100.0%
20101	EXCAVATION CUT	280.00	C.Y.	\$40.00	\$11,200.00		0.00	\$0.00	280.00	\$11,200.00	280.00	\$11,200.00	100.0%
20302	SAWCUT CONCRETE PAVEMENT, FULL DEPTH	104.00	L.F.	\$8.00	\$832.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20303	SAWCUT BITUMINOUS PAVEMENT, FULL DEPTH	1,230.00	L.F.	\$3.00	\$3,690.00		0.00	\$0.00	1,470.55	\$4,411.65	1,470.55	\$4,411.65	119.6%
20321	REMOVE CONCRETE PAVEMENT	130.00	S.Y.	\$35.00	\$4,550.00		0.00	\$0.00	19.78	\$692.30	19.78	\$692.30	15.2%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	300.00	S.F.	\$5.00	\$1,500.00		0.00	\$0.00	768.38	\$3,841.90	768.38	\$3,841.90	256.1%
21024	SILT SOCK (12 INCH) - COMPLETE (UNDISTRIBTUTED)	50.00	L.F.	\$5.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21055	INLET PROTECTION TYPE D HYBRID - COMPLETE (UNDISTRIBUTED)	6.00	EACH	\$100.00	\$600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30205	TYPE 'E' CONCRETE CURB & GUTTER	590.00	L.F.	\$20.00	\$11,800.00		0.00	\$0.00	379.20	\$7,584.00	379.20	\$7,584.00	64.3%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	690.00	S.F.	\$15.00	\$10,350.00		0.08	\$1.20	1,037.60	\$15,564.00	1,037.68	\$15,565.20	150.4%
30311	CONCRETE MOUNTABLE MEDIAN ISLAND NOSE	540.00	S.F.	\$10.00	\$5,400.00		(2.61)	(\$26.10)	1,010.73	\$10,107.30	1,008.12	\$10,081.20	186.7%
30330	PROFILE SAWCUT	33.00	L.F.	\$25.00	\$825.00		0.00	\$0.00	33.70	\$842.50	33.70	\$842.50	102.1%
30340	CURB RAMP DETECTABLE WARNING FIELDS	48.00	S.F.	\$30.00	\$1,440.00		0.00	\$0.00	56.00	\$1,680.00	56.00	\$1,680.00	116.7%
40102	CRUSHED AGGREGATE BASE COURSE GRADATION NO. 2	50.00	TON	\$35.00	\$1,750.00		0.00	\$0.00	51.79	\$1,812.65	51.79	\$1,812.65	103.6%
40382	REMOVE AND REPLACE CONCRETE CURB & GUTTER, HAND PLACED - RESURFACING (UNDISTRIBUTED)	20.00	L.F.	\$50.00	\$1,000.00		0.00	\$0.00	79.80	\$3,990.00	79.80	\$3,990.00	399.0%
40410	CONCRETE SPEED HUMP	845.00	S.Y.	\$75.00	\$63,375.00		0.00	\$0.00	840.92	\$63,069.00	840.92	\$63,069.00	99.5%
90001	7" TEXTURED & COLORED CONCRETE	750.00	S.F.	\$18.00	\$13,500.00		0.00	\$0.00	732.74	\$13,189.32	732.74	\$13,189.32	97.7%
CONTRA	ACT TOTALS			-	\$164,062.00	•		(\$24.90)		\$169,984.62		\$169,959.72	- 103.6%

#### CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

RAYMOND P. CATTELL, INC.
LOCAL ROAD TRAFFIC CALMING & ARTERIAL PEDESTRIAN ENHANCEMENTS - 2015
CONTRACT NO. 7444

INAL PAYME	ENT NO. 4										******		
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
	DER #1, ACC'T NO. 10223-402-2						! !		' '				' 1
	BILIZATION	1.00	LUMP SUM	\$1,850.00		\$1,850.00	0.00	\$0.00	1.00	\$1,850.00	1.00	\$1,850.00	
- TR	AFFIC CONTROL	1.00	LUMP SUM	\$1,850.00		\$1,850.00	0.00	\$0.00	1.00	\$1,850.00	1.00	\$1,850.00	100.0%
- CU	IRB REMOVAL	50.00	L.F.	\$5.00		\$250.00	0.00	\$0.00	57.00	\$285.00	57.00	\$285.00	114.0%
- TO	PSOIL	10.00	C.Y.	\$35.00		\$350.00	0.00	\$0.00	5.59	\$195.65	5.59	\$195.65	55.9%
- HM	1A	34.00	S.Y.	\$50.00		\$1,700.00	0.00	\$0.00	27.63	\$1,381.50	27.63	\$1,381.50	81.3%
СНА	ANGE ORDER #1 TOTAL					\$6,000.00		\$0.00		\$5,562.15		\$5,562.15	92.7%
RAND TOTA	ALS (CONTRACT TOTALS PLUS	S CHANGE ORDERS	3)		\$170,062.00			(\$24.90)	-	\$175,546.77		\$175,521.87	- 103.2%